1/2

100m
100m % 1 #H 100m % 2 #H
L—> o< =2 8 & 15z L— o< 2 8 I iz
2 64 19%)0 3 2 90 1973 4
3 25 1872 2 3 24 18F)0 2
4 38 1659 1 4 58 1773 1
5 68 1978 4 5 89 1873 3
100m % 3 #H 100m % 4 #H
L—y [Fon— 82 % (- ivd L—y o< £ 8 JIE iz
2 19 1878 4 2 85 1585 3
3 16 1576 1 3 11 155> 1 1
4 81 16§01 2 4 57 155> 1 2
5 46 16704 3 5 86 17%0 4
100m % 5 #H 100m % 6 #H
L—> [T\ — i % B {3z L—y [F/3— 2 % [[=Riva
2 77 19F1 3 2 54 1873 4
3 33 19FM1 2 3 6 17706 3
4 84 18717 1 4 92 16§73 1
5 91 231 4 5 31 1752 2
100m % 7 #A
L—y o< 32 8 [
2 79 1573 3
3 66 1473 1
4 2 1552 2
5 93 160 4
6 62 16¥#4 5
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800m E =Bk

—Y [Fon— B & | B BKEBIE [Fon— R 8% B 45z

1 40 | 39446 | 14 1 18 | 3m54cm 2

2 21 | 35082 | 15 2 20 | 2m27cm 7

3 5 | 3203%6 3 3 23 | 2m48cm 5

4 10 | 25746%9 1 4 75 | 3m03cm 3

5 56 | 3,r32f8 | 11 5 41 | 2m44dcm 6

6 27 | 3509#8 4 6 76 | 2m67cm 4

7 28 | 391481 6 7 7 3m56cm 1

8 29 | 357204 8

9 30 | 3m3 1281 5 E =Bk

10 94 | 3430F)1 10

11 12 | 3532675 9 HEE [+ 82 & g sz

12 55 | 3443F)1 13 1 26 90cm 8

13 65 | 357144 7 2 32 80cm 9

14 1 34386 | 12 3 34 93cm 5

15 8 | 3702%8 2 4 42 96cm 4
5 43 93cm 5
6 47 93cm 5
7 83 1TmO03cm 3
8 87 1Tm10cm 2
9 69 1Tm20cm 1




